Advanced vocabulary worksheet

Complete the following sentences using the appropriate form of the word given in the brackets.

1. The Nazi war criminals were condemned for crimes against .................. (human)

2. Unable to bear the .................. he left his village. (humiliate)

3. The play was so ................. that the audience laughed through it. (humor)

A i of the jewels was made by the owner. (identify)

5.ltwould be ...............co to antagonize such an influential politician. (idiot)

6. AN ., set designer can always enhance a play. (imagination)

7. Lending someone your passportis an ..........cccceeueen. thing to do. (imbecile)

8. The newsmen discussed the political ....................... of the war. (implicate)

9. Low morale can render an army ...........cooeevuunns (impotence)

10. His account of the robbery was hysterical and ..................... (incoherency)

Answers

1. The Nazi war criminals were condemned for crimes against humanity.

2. Unable to bear the humiliation he left his village.

3. The play was so humorous that the audience laughed through it.

4. ldentification of the jewels was made by the owner.

5. It would be idiocy to antagonize such an influential politician.

6. An imaginative set designer can always enhance a play.
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7. Lending someone your passport is an imbecilic thing to do.

8. The newsmen discussed the political implications of the war.

9. Low morale can render an army impotent.

10. His account of the robbery was hysterical and incoherent.
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